

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

TAX INVOICE

SOMPO INSURANCE SINGAPORE PL **50 RAFFLES PLACE** #05-01/06 SINGAPORE LAND TOWER

SINGAPORE 048623

INV No. AC2005879

INV Date 27/08/2020

Reference CS/SMO20007592/Uvf3n2

Code

PROFESSIONAL SERVICE FEE

Vehicle No. **SLG 5538D**

Insured Veh. XD 9354P

Claim No. CMTD2002172/AGC

Policy No.

Accident Date 23/07/2020

Inspection Date 23/07/2020

Description	Total
Survey Inspection	450.00
Resurvey Inspection	
Digital Photographs	
Transportation	
Subtotal	450.00
GST (7%)	31.50
Grand Total	481.50

We shall be glad if you could forward the payment at your early convenience.

Cheque should be crossed and made payable to 'LKK Auto Consultants Pte Ltd'

LKK Auto Consultants Pte Ltd



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

	Affiliated to Federation Internationale Des Experts En Automobile					
SOM	IPO INSURANCE SINGAPORE PL Ref : CS/SMO20007592/Uvf3n2			/Uvf3n2		
#05-0		OWERSINGAPORE 048623	Date :	27-08-2020		
			Code :			
1.		Policy Particulars	1		01.0.55000	
	Insured Veh.	XD 9354P	1	nspected	SLG 5538D	
	Policy No.	0.177	Covera		0.00	
	Claim No.	CMTD2002172/AGC	Exces	• •	0.00	
	Assign From	GRACE TEO	Assigr		23/07/2020	
2.		Vehicle Partic	ulars &	Condition		
	Make & Model	HONDA CIVIC 1.5 TURBO (A)	c.c		1498	
	Engine No.	HIDDEN	Year o	f Reg.	2016	
	Chassis No.	MRHFC1660GT000185	Colou	<u> </u>	SILVER	
	Odometer	103938	Steerin	ng	IN ORDER	
	Brakes	IN ORDER	Modifi	cation	SPORTS RIM	
	General	GOOD				
3.		Condition	ons of 1	Tyres	_	
		Size	Make		Balance	
	R/H Front Tyre	215/50 R17	YOKOH	IAMA	6 mm	
	L/H Front Tyre	215/50 R17	YOKOH	IAMA	6 mm	
	R/H Rear Tyre	215/50 R17	YOKOH	IAMA	6 mm	
	L/H Rear Tyre	215/50 R17	YOKOH	IAMA	6 mm	
4.		Description	on of Da	amages		
	THE VEHICLE SU	STAINED DAMAGES AT THE REA	AR POR	TION.		
	DAMAGES SEE D	ETAILS.				
5.						
	Accident Date	23/07/2020	Inspec	tion Date	23/07/2020	
	Survey held at	FASTECH AUTO PTE LTD				
		1 KAKI BUKIT AVENUE 6 #01-46/48/50 AUTOBAY SINGAPORE 417883				
5a.		Re	emarks			
	A)THE INSPECTION WAS CONDUCTED ON A"WITHOUT PREJUDICE" BASIS. B)IN ACCORDANCE TO YOUR INSTRUCTIONS, WE HAVE NOT AUTHORISED REPAIRS.				REPAIRS.	
5b.	5b. Estimate Days of Repair					
	ESTIMATED NORI	MAL PERIOD FOR REPAIR:		6 Working Days		



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 2

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SLG 5538D

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	BOOTLID	DENTED / BUCKLED	820.20	531.20
1	BOOTLID OUTER GARNISH	WARPED / CRACKED	655.20	382.30
2	BOOTLID HINGES @\$166.30	TWISTED / BENT	332.60	332.60
2	BOOTLID HINGE GARNISHS @\$82.50	N/S TORN	165.00	82.50
1	BOOTLID REAR LOGO	NECESSARY	50.00	38.50
1	BOOTLID CIVIC EMBLEM	NECESSARY	105.00	40.50
1	BOOTLID "VTEC" EMBLEM	NECESSARY	98.00	38.80
1	BOOTLID INNER LOCK	BENT	99.00	99.00
1	BOOTLID WEATHERSTRIP	TORN	218.00	166.20
2	BOOTLID REFLECTORS @\$340.50	N/S SCRATCHED	681.00	210.50
1	BOOTLID "TURBO" EMBLEM	NECESSARY	33.00	33.00
1	BOOTLID INNER TRIM	NOT NECESSARY	295.00	-
1	SET BOOTLID INNER TRIM CLIPS	NOT NECESSARY	50.00	-
1	REAR BUMPER	DISTORTED	688.00	617.20
2	REAR BUMPER SIDE RETAINERS @\$35.00	BENT	70.00	70.00
1	SET REAR BUMPER CLIPS	NECESSARY	50.00	50.00
2	REAR BUMPER LOWER SIDE BLACK GARNISHS @\$85.00	SCRATCHED	170.00	170.00
1	REAR END PANEL	BADLY DENTED	380.00	371.20
1	REAR END PANEL TOP GARNISH	TWISTED	245.00	245.00
1	REAR FLOOR PANEL	TO REPAIR SEE LABOUR	990.10	-
1	REAR FLOOR PANEL TOP BOARD	TORN	450.00	415.00
2	TAILLAMPS @\$385.10	CRACKED	770.20	614.80
2	TAILLAMP PANELS @\$245.00	BENT	490.00	490.00
2	REAR FENDERS @\$899.10	TO REPAIR SEE LABOUR	1,798.20	-
2	REAR FENDER INNER TRIMS @\$355.10	SERVICEABLE	710.20	-
1	REAR BUMPER CENTRE BLACK GARNISH	DEFORMED	311.20	266.30
1	REAR WINDSCREEN MOULDING	NOT NECESSARY	121.00	-
1	REAR BUMPER REINFORCEMENT	BENT	388.50	245.50

Report Ref No. CS/SMO20007592/Uvf3n2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 2

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	LESS 20% DISCOUNT		-	-1,102.02
			11,234.40	4,408.08
	SPECIAL NETT ITEMS			
1	BOOTLID SPOILER W/THIRD BRAKE LIGHT (SN)	CRACKED	1,200.00	780.00
1	SET REAR BUMPER REVERSE SENSOR (SN)	SHORTED	280.00	200.00
1	REAR END PANEL SEALANT (SN)	NECESSARY	50.00	50.00
1	REAR LICENCE PLATE (SN)	BENT	50.00	40.00
1	SET REAR FLOOR PANEL INSULATOR (SN)	NOT NECESSARY	200.00	-
1	REAR EXHAUST (SN)	NOT NECESSARY	1,500.00	-
1	REAR ANTENNA SENSOR (SN)	CRACKED	180.00	180.00
			3,460.00	1,250.00
	<u>LABOUR</u>			
	TO CHECK WIRING.		50.00	30.00
	TO DISMANTLE & REPLACING REVERSE SENSOR.		80.00	50.00
	TO TRANSFER BOOTLID MECHNISM.		100.00	60.00
	TO DISMANTLE & REFIX CUSHION UPHOLSTERY.		120.00	80.00
	TO DISMANTLE & REFIX EXHAUST.	NOT NECESSARY	100.00	-
	TO SPRAY RUST PROOFING.		120.00	80.00
	LABOUR FOR PANEL BEATING & REPLACING PARTS.INCLUSIVE OF THE REPAIR OF REAR FLOOR PANEL AND REAR FENDERS.		1,800.00	900.00
	TO PUTTY & SPRAY PAINTING.		1,500.00	1,200.00
			3,870.00	2,400.00
	GRAND TOTAL		18,564.40	8,058.08

RECOMMENDED COST OF REPAIR SUM			7,200.00
--------------------------------	--	--	----------

Report Ref No. CS/SMO20007592/Uvf3n2

*NOTE: NEW PARTS REPLACEMENT

CHUA KANG SENG

Licensed Appraiser